TS SET

Notations :

1.0ptions shown in green color and with

icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : POLITICAL SCIENCE
Duration: 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required?: No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color: No
Change Background Color : No
Change Theme: No
Help Button: No
Show Reports : No

Show Progress Bar : No



Teaching and Research Aptitude

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

1
270282225
60

60

No

No

0

100

No

Cant View

No

Teaching and Research Aptitude

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

270282225
1

Online
Mandatory
38

38

100

Yes

0

1
2702821253
Yes

null
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This describes mtended results of nstruction rather than the process

of mstruction
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Sympathy to students
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In this stage learners are self motivated and self directed
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An elective course chosen generally from an unrelated

discipline/subject in CBCS system
1s termed as:
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This refers to the degree to which research findings can be applied

to larger population
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In which type of Research it 1s more about moving from “General Population to Particular”
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Which of the following scale is used to assign events or objects into discrete categories
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Which phase in Research 1s meant for cleansing data and

improving the quality of data ?
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Which is a software application which enables a Web to display and interact with text, images.
videos. music and other information types by accessing a web page ?
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Read the passage and answer the Questions from 11 to 15

Have you ever been at sea in a dense fog. when it seemed as if a tangible white darkness
shut you . and the great ship. tense and anxious. groped her way toward the shore
with plummet and sounding line. and you waited with beating heart for something to
happen? I was like that ship before my education began, only I was without compass
or sounding-line, and had no way of knowing how near the harbor was."Light! Give
me light!" was the wordless ery of my soul. and the light of love shone on me in that
very hour.
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The phrase ‘tangible ’ means
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The author compares her childhood waith the
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The phrase- ‘| was without compass,” means:
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The synonym for the word ‘harbor’ in the above passage is :
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The first three lines of the above passage reflect .
) D830’ Jched e Hodden 1232 08T 0N

Options :
apprehension

-5 "t
| es00 ¥



pity
2 #® aé),

sorrow
3 % (XA

empathy
USMEANE

4, %

Sub-Section Number : 4
Sub-Section Id : 2702821256
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028217113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Shaking the hands of a person in a country, where such an act is
disrespectful is a

______barrier.
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errors can occur when a wrong word is typed

in an e-mail and theintended message is

misrepresented.
-0V $53) Q) VD TR I HOO GBIV NOBFO

53 )T ArD0TI2EN0) 1 STaren H0BNOTINTR
Options :
feedback

| % @ErODO

encoding
5 % DS B00



channel

3 % T RO

decoding
4. ég‘gﬁ%@ﬁ
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messaging refers to the pitch, flow and tone of the
voice.
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In the place of work, people respond to ideas that are
presented with
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Options :
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___listening can help you address conflict or problems within

the team
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Correct Marks : 2 Wrong Marks : 0
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A worker reaches his workplace 15 minutes late by walking at 4
km/ph from his house. The next day he increases his speed by 2
kmph and reaches m time. The distance from his house to his work

place 1s
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If the incomes of A and B are i the ratio of 3: 4 and their
expenditures in the ratio of 4 : 5. The ratio of their savings, given
that B saves a third of his mcome are
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If mean and mode of a distribution are 6 and 8 respectively, then

the median 1s
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The questions 26 to 29 are based on the following data.
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Four persons of four professions are seated in a row, such that the
Professor 1s to the immediate left of Anup. Mobhit 1s adjacent to the
Doctor. The Busmessman 1s as many places to the left of Priyanka
as Manmohan 1s to the right of Priyanka. One of the persons is a
Lawyer.
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Who 1s the lawyer?
P L0 )adBD?
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Who i1s seated between Priyvanka and Anup?
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Options:
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Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true?
Bob srggEned® 26 Jeghde ?

Options :

Mohit 1s not the businessman
g TS fardaed SN

Manmohan 1s the Professor
5 @ NS PTS (DO

Priyanka is a lawyer
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Anup 1s a Doctor
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From the statements below, all the following are true except
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Lawyer 1s not seated to the left of Doctor.
3508 DBeNB YN eroHD 8 3B.
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Professor sits between Doctor and Lawyer.
2350 DO ePAND NGNS 1P N0 Srdy yoor) .

2. ¢
Manmohan 1s to the left of Lawyer and to the immediate right
of Mohit .
N 37D eFANTE DN IN OGN FrarSE OATYS
3 % €500 &.

Mohit and Doctor are seated adjacent to each other.
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In a certamn code language. if the word ‘"MENTION’= 49 and
‘NEUROTIC’ = 64 , then

‘MARVELLOUS’ =?
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Note: Answer the questions 31 to 35 based on the data provided below.
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The gross mvestment of Life Insurance Corporation of India in
different sectors 1s given i the following table.
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S.No. | Investment Sector Amount. (crores)
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1 | Socially oriented sector ( Plan) 458
s estrded 00 (DT DY)

2 |Socially oriented sector (Non plan) 107
ATSrEE esirheb SO0 (PP PIY)

3 Private sector 183
| 298 Gotio

5 | Central Govt. Securities 454
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6 | State Govt. Sector 110
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The percentage of gross investment in state government securities nearly
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The magnitude of angle COF i1s nearly
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The investment in private sector 1s nearly  percent higher than
the investment in state government securities.
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The ratio of the area of circle above COF to the area of the circle

below 1s nearly
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The program 1s intended for Tertiary Education through partnerships
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Which of the following was not a Millennium Development Goal?
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Eradicate extreme poverty and hunger
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Which of the following types of natural hazards have the highest

potential to

cause damage to humans?
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Earthquakes
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Droughts and Floods
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Carbon dioxide 1s primarily called a greenhouse gas because of ..................
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Non Renewable source
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The primary agenda of the Kyoto protocol is ...........
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Regulation of hazardous wastes
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The concept of Meta University was adopted by ...............
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Jawaharlal Nehru University
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Which of the following 1s related to the New Education Policy 20207
& oipd A BE Dy derido 2020 8 Sowoodke
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Which is the nodal agency for United Nations Environment
Programme (UNEP) in India?
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Ministry of Education
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Ministry of External Affairs
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Who among the following viewed freedom in essentially economic terms and
advocated the greatest possible freedom of choice in the market place?
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Assertion (A):  All politics 1s about power. The practice of politics 1s often
portrayed as little more than the exercise of power.
DBPEN (A): T280PON) ©OFTTAE N020H0DN. TPEare
39056 ST QTS DATTH0 §0T) FOTO DF)IT
DI SE00RR0E.

Reason (R):  Students of politics are students of power: they seek to know who has
it, how 1t 1s used and on what basis 1t 1s exercised.

T R):  Tadd 2R dorghen efseBo 5t 50N &6355 ©d Qv
DEROFDHH0E 5B O (FEFHES sddrRosathHoss
BencnBlotrd.
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(A) and (R) are true. (R) 1s the correct explanation of (A)
| v Q) (R DOt DEDEIT OB, (R). ()50 OB DadSe

(A) and (R) are true, but (R) 1s not the correct explanation of (A)

, x (). ®)TO DEDAT SBOT, 57 (R). (A) 50 DTS DoIed 5°¢0



(A) 1s true but (R) is false

, x (@) 20915 ®) $:))

(A) 1s false but (R) 1s true

4w (B3I 5% (R) 2569.)
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Which of the following is considered as a question of who gets their way. how often
they get their way, and over what 1ssues they get their way?
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Consider the following m relation to the concept of ‘justice” and choose the correct code:
3000 % 27008 d020H00 808 TR HBMEI008, HBN FR JothHToR:

1. The distribution of rewards and Punishments.
DBHEPO HOE, I e

2. A distributive concept.
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3. A moral or normative concept
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4. An ‘essentially contested” concept
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Which one of the following 1s NOT matched correctly?
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Liberty-rights: to use the public highway
e 05T )-erB02e0: (0T SO 5a03NOTI0

Claim-rights: the right of one person not to be assaulted by another

PP-o502.0: 2,503 NTED rG TONETRAT 350
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Legal powers: the right to get married or the right to vote
, DOIOD 9T EN: DeFT0 BWE 750y BT 2,60 T80}

Immunities: the right of young and elderly people to be drafted into the army
v DAFON0)EN: DO, SN DY TOR 058 BTV 780}
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Who among the following advanced the idea of multicultural citizenship. based
upon the belief that cultures are valuable and distinct and provide a context in

which individuals are provided with meaning, orientation, identity and belonging?
& 808 a0 D% H0NIEN DEVF ), D&, €98 558

G0, 8883, (1805, H0GT)R) @OBTA 3050 estrdorm 2Ty
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Who among the following summed up in his book Capitalism. Socialism and
Democracy that the democratic method is an “institutional arrangement for arriving
at political decisions in which individuals acquire the power to decide by means of
a competitive struggle for the people’s vote™?

& 806 ardS S (DAL DB, B TR0, FAOBO ©O& BIrED
0 NE0S’ 1920 .60, & Fordro T Ssen Ao 359 ol
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Robert Dahl
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The following aspect 1s considered as important to postmodern theory and
acknowledged as a condition of positivity or concrete form as such:
Bod wodkn ugHdsoss i}:{;ﬂ@ﬂ&)& SogyFdBT DoKBontHE0s

58 F¥red Soe DB rdo @n¥) R8T HBotnkod.
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Patrimonialism
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Read the following statements:
& 800 30 tHH0a:

1. To conceptualize democratic participation without taking into account the
constraints of the private sphere entails too narrow a view of democracy.
23381165 0T HOWEAEN @0 TVEEIOT (e 5§ 2R S5
D020 TWONEO (2T 1050 D) e HoFIDes (E1TR) SO &0cserh
2e)N0R.

2. The mequalities within the famuly are as relevant to issues of social justice as
inequalities in the public sphere.

00020 R BNSPHSO PO H020H0DDN (e SN0 R Wiy
TEONO ASPISENTH N0iEIoTTE).

The above are the arguments of the following feminist thinker:
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What does the Conservatives insist? Choose the correct code:
Srcsesrdarcinen (S0 s83000) Dad &) Tanedy? A0 G JothEod:
1. The necessity and importance of political arrangements that hinder evil.
T olOBT TREAD T8 @055 £8e, (BP0 zes.
2. The enforcement of morality. the treatment of people according to what they
deserve.
TBEe .60, H58ven B8 B ) 195760 FOS 35:5:TBOTIO.
3. The importance of swift and severe punishment for serious crimes.
& 5065 (8 BTN, S T OB EBS5 5.
4. The aim of justice should be equality not the rule of law.
000 ©F F0 DadFadeh £0, Aad) L0 PO SEN.
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Read the following and choose the correct code:
8806 3R O BN TR JOTVEOR:

1. Fabian socialism 1s considered as the first systematic doctrine of democratic or
evolutionary socialism.
T EONR FADBO (DT 50 BT DO FAO2s) I KR
oS0 abioiadeHod
2. Fabian socialists based their economics on the Ricardian law of rent.
TN FAOPED ) &30% T8 8500HA T (50D ST .
3. Fabian socialists sought to introduce socialism, not in a single stroke, but by
degrees by state and cooperative ownership of industry.
TFH0HA FAOPe FAOQ) 2.5 TS FHOF, T3, AeF5E H0sre)
OSPBSPRE0 aPOFNEEBE I 500 @0TOOTENT HOB0H0 TOHFTRS
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Read the following statements and choose the correct code:
%800 a5:0M O, N0 F&D wothEod:

1. Hegel postulated that ‘1dea’ or ‘consciousness” was the essence of the universe,
and that all social mnstitutions were the manifestations of the changing forms of
idea.

TS SN B 095F &R0 DF 20 U040, @98 fFireE oen
esSTINED SR EFTE 3580 BT

2. Marx believed that ‘matter’ was the essence of umiverse, and that social mstitutions
were the manifestations of changing material conditions,

S0 DA 50 T 040 @), T Hoden SFEMN) B DOV
5588880 J76).) MamIch.
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2 only
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Consider the following m relation to Confucian virtue politics and choose the

correct code:

EPE000 DDEIES; TREPOR H02000) & 808 & SBHI0I08, ST
§80 w08 0dk:

1. It requires political leaders to be virtuous,

A8 3805 ToDhBIeD N )e000 9580.

It 15 a function of the state to provide moral education to its people.

29205 Fedd Dz @000 TP 28 6.

3. Virtues determine whether a political instifution is moral or not,
24 72309 oY) TREDNO T 9RO ST°ien AGoNTo

4. Democracy cannot promote virtue politics.
2R 53020 €985 TPREATFORD (8¥6 Jar 0TI,

-

Codes:
365@_‘1}:

Options :

1,2,3 &4
;% 1.2.3 &0ako 4

3 only

1,2 &
1.2 00050 3 S

2. ¢

1 & 3 only
1 500c50 3 ST

1 & 4 only
4« 130G 4 SIS
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Arrange the following in the sequential order as per the dialectics of Plato’s Republic:
2 B85 BANBIE) 150 & 808 FER 5 (5008 w8108

1. The original position 1s restated by ridding itself of its own contradictions.
) @0F0 T {06 FDTE0N SOf0G0 T 500
ardodotiacieod.

2. A position 1s stated by one speaker i the dialogue.

2,8 050 2.8 @007 Berfd draodS Tenerdh.

3. Somebody offers qualifications or objections.

20T edeen BT ;087700 @odT .

Choose the correct sequence:
DB 1E7R) DothHE0R:

Options :

3. %

.|
. 3 308am 1
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Assertion (A): The informed gardener who makes the best of his own tools. his
own seed and his own soil really has got the best out of nature.
BT (Ax 03 5065 DN, 03 5065 DT, 09 02065 HER
&S0 SAPHT P AP0 EOAS BSrO A0 58S
DO GAHRN TR SFOHEE.

Reason (R): Anistotle’s chief contribution to political science is to bring the subject
matter of politics within the scope of the methods which he was already
using to mvestigate other aspects of nature.

s (R): Trade 778 @brSS (DS STty @ @83 &d)
9% 2% @0TON NOTOOSETAS GHATAONS HPM HOAS

280N @070 BT H0.

Options :

(A) and (R) are true., (R) 1s the correct explanation of (A)
- (A) 05w (R) B0 DAIET™ OB, (R). (A) 50 OB QadSed

(A) and (R) are true, but (R) 1s not the correct explanation of (A)

L (A) $005 (R) D0t DEIET K3, 5. (R). () $ $BS D3er 51

(A) 1s true but (R) 1s false
(A) 2.5) 5 (R) 5

(A) 1s false but (R) is true
4 x BA) B35V R) 253
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Read the following statements in Machiavelli’s terms and choose correct
code:

SrEANO ADOHNO 105°50 & 806 530 19508, DTS TG
DONE0G:

1. Love does not always work because the behaviour of those i love
relationships are usually but not always predictable.
269 D05))16% HATOHED, OVE0T (WS &) 570 (DSTS
QDOVOTEN
TG0 a) )P & 03N 5.
2. Fear. by contrast, never fails: ‘If you have them by the balls, their hearts
and minds will follow.’
5090, HAE DO, Y IEP DHOO0 TN DA DSOT N HDHE’
EVHOT, a0 5T ALY, DI JEN QDo) ©DdIOT oW,
Codes:
§Ge:
Options:
1 only
. ] o377 €5 530
2 only
5 2 5075
Both 1 & 2

1 08cs» 2 dodar

3.¢

Neither 1 nor 2
1 308050 2 DOLF sPa)
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It 1s held that the idea of a constitutional, law-bound polity, based upon a wide
representation of the people. was the inevitable outcome of the 1dea of the following
concept:

930 DS [FPBAG0 STEHEN TarsofadRN, DLDPN Trasaire
365095, & 806 279980 TOON TS AT HONEIOTICHER0O:

Options:

Divine origin theory
BDRE 7Y D00

Social contract
5 @ TRE 2,C0DAE

Gelasius theory
NeFPRONR W00

Sovereignty
4 % e NtARNIE AL o0
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Read the followmg statements and choose the correct code:
& 800 3500 AR, AD FED DothEod:
1. Hobbes doubted whether men are naturally sociable and suggested that their

nature is such that only a very drastic version of social contract will ever get
them into the social condition.

790 Qs30T ArosnEes ¥ON &) T @) 5383 ) 0BT, 30 & 52730
967030, T TP BTN fTTE 261080 0 8E TR wr T
VBO'E BHTLH0O 9 PO,

3

2. Locke thought that men are naturally sociable. though he hedged on the question of
exactly how sociable they are.

PO WsTBOM Ar0aES EORN PO €8 2FN0TE, 0038 s
D065 0B SO &) D &F (04 2 @B B BT

3. Rousseau made the social contract a way of explamning not how societies can be
made stable but how societies can be made just.

UreF rasresd 2,80 dS3reren Jer VGO &0sS ) DO Srdorr
SEOE JSTETON DeF T OHDEOM SOITS) TaDS') DIBOTTCR.

Codes:
gsﬁt'i)}:

Options :
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, % 1500co 2 S

1 only

3 x 1 ST(ED
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| 15000 3 areh
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Which of the following work of Mary Wollstonecraft 1s considered as a standard text
for feminist political philosophy?
D0 TOFSSF &2 800 D S5 QT T280% &6 ;TS (Frred (fogorr
HofEdots A0

Options :

The Second Sex
O E0E DE)

Woman's Share in Social Culture
oJ)oD®) 0 A® FAS )6
2. %

Declaration of the Rights of Woman and of the Citizen
- QRECA® &3 O BE)) 8D YIS @0& 33 EBD

A Vindication of the Rights of Women
po ® DOBITAN & & BE) &9 HS
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Who among the following evoked Machiavelli’s mythical Creek centaur. half animal
and half human. as a symbol of the ‘dual perspective’ m political action—the levels of
force and consent. authority and hegemony, violence and civilisation?
T3S0 BI85 (350895 598630 200738 608, OG0, 8HNSB0, 70,
0L T8 DT 0, SPEOHTEO Froeeds 5§ VLR, (30 20k, 0
SPIHEN 800 7O It (WONOT

Options :

David Held
| % BAE TP

Antonio Gramsci
: &
SO AT (PR}

David Harvey
3 % BAG o308

Louis Althusser

. eurom esenad
4,
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Hannah Arendt’s term ‘viva activa’ denotes which of the following human activities?
Choose the correct code:
) 008 B0 0P ET: & 808 FES ) sirdsd S 8P
ATR00? OB AR JothSod:

1. Capital

RA VAT

Labour

(da

]

3. Work
N

4. Action
w0

Codes:
gGen:

Options :

1.2 & 3 only
1.2 200050 3 Sredad

1. %

1.3 & 4 only
1,3 500050 4 S

2,3 & 4 only
2.3

- 00k 4 ST

2.3&4
2

1.
., 1.2.3 00w 4 €5
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Who said. “decolonization is the meeting of two forces, opposed to each other by their
very nature, which i fact owe their originality to that sort of substantification which
results from and 1s nourished by the situation m the colonies™?

ATOTEAR O 527508 2.5ATEES 5:3550 eson Bock e

$030m8, FOFVE 26 3 TFUDEBL & DI PEr;esE) DEIDG G0onod, ad
JONOSR HBVRO I 507 FNOIRSAI0A" 98 DIth eome) K

Options :

Karl Marx
520 33°5),

L1

V.1 Lenin
o). 8 S

Frantz Fanon
EulelN NIV

Mao Zedong
) BCFON
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Who said, “each person possesses an mnviolability founded on justice that even the
welfare of society as a whole cannot override. For this reason, justice denies that the
loss of freedom for some 15 made right by a greater good shared by others™

458 o558 200D TN0VAEN 2.8 ©0LTASTV) $OR Gotrd, A S0y
Qo2 D0S DO §re @BH0IBE. & U0, DHED N0THEN ) 0T
500 008 AP 86506520 T 103080 NOTANAA0LT AR T20H0
QTEON0A" @R Dedth &) e

Options :

Martin Luther King
QR erd5 §oh

B.R. Ambedkar
2).es5. @023¢5.6

John Rawls

20 TP )
3. i

Amartya Sen
4 % €900 i DO

Question Number : 74 Question Id : 27028217173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who among the following considered that contradictions would remain even in a
socialist society, but antagonisms would not and formulated the notions of
antagonistic contradictions and non-antagomistic contradictions?

& 806 a0 FNON N80 SrE BOTEO GOEFoN T )T 100 G0
@) )8 § BT 500, 4B S FET N OF 2FIIO JreS00D08 deithr



Options :

Mao Zedong
. NUNSF~ ool

Rosa Luxemburg

] S :
, x 08 ©3020

V.I. Lenin

Lk D@ 8IS

Joseph Stalin

D OS
4, #
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Who among the following considered that democratic politics i a system of political
representation is the ideal ground for the practice of liberty?

Tr350D [BPBRCS S50 (HERrseds TS oiren DT rEdH ©ZN
DTN & 806 B D3 ZPNOTED?

Options :

Aristotle
@83

J.S. Mill

E.00R. DS
2. %



Reynold Niebuhr
Ser®) dand

Cicero
SRTE]
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Which of the following are Hegel’s works? Choose the correct code:
&1 800 &3S RS G330 D DTS FE DoTHE0E:

1. Phenomenology of Spirit
& DT e )08
2. The Poverty of Philosophy
TS0 e DerdD
3. Philosophy of Right
DHerdo) e B
4. The Phenomenology of Mind
& DTN O &) OB

Codes:
gGen:

Options:

1,2.3&4
1,2, 3 500050 4 S50

1. %



1,2 & 3 only
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I
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Read the following statements in relation to Marx’s theory of surplus value and

choose the correct code:

707, aDEN DENe) FTFOTRS 3020000 & 508 35O N0, T

§RD J0thE0d:

1. The cost of production of the commaodity labour power is the cost required for
maintaining the worker as worker and of developing him into a worker.

52028 080 [#a0 45 &5 718 23:000, TOAN TOAET NG roERE eesd))
SHVAT ©98)y@ TONTAE @GRS DA T GOEN0E.

2. The value of labour power and its price as wages is therefore the necessary means
of subsistence, which enables the worker to turn up at the factory every day to do
his work.

@08 48 Densd, Srenm TR B8 083 @S50S BSTEorr &od, e
0508 669 9O TOHTNE |HBF 2 2P350 538 FFer TR0,

Options :

1 only

| % 1 S|edod



2 only

, % 2 VTN

1 & 2 Both
3 ¥ 1 00cn 2 Codsr

Neither 1 nor 2

4 % 1, 2 Doy 520
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Which of the following occupy an important place in Dharmasastra?
Choose the correct code:
& 800 a3 38 BT N0S SNPIN TR0 G0O? 3T FER MothE0d:
1. Sacraments (samskara)
85600 (Do) 0)
2. Purification (shuddhi)
DQ (HQ)
3. Imposition of force (bhala prayoga)
200 (e (337 H)
4. Expiatory rites (prayasitta)
a3 ) G200 (|D05TF)

Codes:

?5 23

Options :

A & B only
A 500050 B oS5 e5a

1. % 7



A.B & C only
A , B 5008050 C oSredadd

A.B & D only
3 v A BB D e

A.C & D only
A, C 500050 D oSe|edadd
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According to Aggaiifia Sutta the assigned duties for the kings are:
@(ied) e DE0 TrareE) TEFaNOoDD DEen:

A. He should be wrathful when indignation is right.
eS| (13370 DB 900N )CD 065 FH0d &omd).

B. He should censure that which should rightly be censured.
DO POROINO VN TN 965 OGO,

C. He should banish him who deserves to be banished.
2570 98950 @ DTS AR a3, 00TE).

D. He should mercy him who deserves to be banished.
2o 88950 e@BB T §edod.

Choose the correct code:
ABS FED DothE0dk:
Options :

1.



A.B & C only _
v A B&bdw C (e

A.B & D only
- A, B 500 D JSr(edad

B & C only

, » B &0 C ST BT

B & D only

, B0 D ST
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Which of the following Zia-Ul-Barani’s classification of laws 1s matched
correctly?
5800 TSSO B0P-6S-2TR HEF 088 SO BSHETIDE0E?

1. Shariat laws: the state laws formulated by the monarch in consultation with the
Nobility.
AOONHS EFeD: BN DHENYOS H0HA0L EraroBOD Tray thEFeN.
2. Zawabit laws: based on the teachings and practices of the Prophet and of the
Caliphs.
278)E BHEPeN: D58 OO FIIeN ePire) T T SPFroA0AAN.

Choose the correct code:
A0S TR JOtHE0R:

Options :



1 only
1 S5

2 only
2 S5

Both1 & 2
o 1 o00CG™ 2 Coday

Neither 1 nor 2
4 v 1500CID 2 DOr =°y
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Kabir advocated belief in a formless Supreme Being. This conception 1s referred as the:
20 AT D573 96350, D000, & 27 BeP DT S:

Options :

Nirguna
1 @ D

Saguna

, % OMDE
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3 x D0MED

Triguna

e3(He
4. % .
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Who among the following expressed his confirmed belief that true freedom for India would
be achieved only with the destruction of Indian National Congress, Hinduism and
Brahminism?

&800 PO o3 2Pes 20D T[N, SFOLT SIes0, [27er865 L D00 SF S
I ESTTRE DB 7 3850(5:0 ODDOLR ed 88 TR, S50 DA

Options :

Jyothiba Phule
Sraser oS

E. V. Ramaswami Naicker
R.0). TN 5o 0*0DNE0

Narayana Guru

3 % 00008 H

Annie Besant

4 % esd) 2o
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Lohia 1dentified seven aspects which require independent revolutions. They mclude:
SEFOIT & £50( DTN @380 D 0T HOoTE.

2 8S et

1. Revolution against religion
N8 23 §BTE0M D)0
2. Revolution against caste system
500 05080 3 BTEO0T a0
3. Revolution against gender inequality
D01 @0dIPIBE) 0I;0L0T DO
4. Nationalist revolution against imperialism
TPBETERS 5 BT50M e AT W0

Choose the correct code:
OB FGA dothEod:

Options :

A B, C&D
A . B.Cabdw D

1. %

A.B & C only

, AB 00050 C S50
2.

A.C & D only

L x A CH0a D S
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As per Rabindranath Tagore thought:

EdoTH Tird S B0 (HFEo:

Assertion (A): Technological orientation drives man to join society for self-
preservation. This makes society mainly an aspect of power and as a
collectivity 1t does not have much to do with the pursuit of higher ideals.

ST (A): FOTDE 68 HRNA ees8% e §190 dairao Tder 0.

26 Q) N0 $§e A8 HERN oS0 Tenod. HAS
D) E509).6 e300 RGOS DM 0RO SO,

Reason (R): Nationalism 1s an embodiment emancipation evolves moral values
develops the 1deals of freedom and equality.

s (R): 2PS0DTH0 2.8 Doing TS enaien & £8P0, a0 WL, daires ¢
&T 00 880 TROA.

Options :

(A) and (R) are true. (R) is the correct explanation of (A)

(A) L00c» (R) Dot AT (A) 50 OB 2388 (R)
1. %

(A) and (R) are true, but (R) 1s not the correct explanation of (A)

L () $00 (R) Dotk DAIGT ST, 0 (R) . (A) $0 TS Dden 5%

(A) 1s true but (R) 1s false
5 v (B) 2)) 5 (R) Say)



(A) 1s false but (R) 1s true

e, (A) €35 (R) 2.8
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Which one of the following is NOT a work of Aurobindo?
&3 800 6365’ @808 S5 IO 6

Options :

The Human Cycle
& LD ESD

1. %

The Wheel of History

A NS &P 7N
2.9

The Ideal of Human Unity
& DA0HS 6 TursS CrdES
3. %

Life Divine
B GBI
4, 8% =T 7=
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Who among the following considered that Hindu consolidation 1s not possible to

achieve with the practice of untouchability and the rigidity of caste system in India?
PESTH0S 90LTRSN0, S0 9298 G9¢ie L0 ar0tir H88GEd FrO0Ito

320 Q) 800 FOS D 2T 0T

Options :

V.D. Savarkar
1 . G a0

E.V. Ramaswamy Naicker

, % .00, TPeDaI" o) 70° 0050

Soma Prasad Banerjee

L x TFIr(HTE BOQ

Bala Gangadhar Tilak

4 % O HOTOS e§
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According to Pandita Ramabai:
200G Jaireran (w5d0:

1. The low account of women's nature and character depicted in Manusmriti was. to a

large extent. responsible for seclusion and suppression of women.

TR . ¢ ¢ 8 L : VA,

DDNPYBO QONDAN RO 05270, al(eh, D 550} 0, Ter

" 5 o, f [

DG, (V0N JFOTRE, 9BDRSR TR0,
2. All sacred books in Sanskrit literature share hateful sentiments about women.

Vi o W . Y Y W 5 W ,

N0 Frereh;06 R e9R)) I YTE Ve HOBOD B0 erared
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1 only
1 Sedad

1. %

2 only

2 v
2. %

Both1l & 2

1 00ci» 2 Godar
3.¢¥

Neither 1 nor 2
1 300050 2 Doy 57
4. ®
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Who among the following was conscious of the limitations of both capitalism and
communism and wanted to avoid their demerits in the model of development he
envisaged?

5800 TOS D5 DEVATD D0, 85070 BB HOEE HBOY
9057 EOR &0A 965 3ar0D @50 S e §'red AardoTeN
S e

Options :

Jawaharlal Nehm

| BadrDerd [aovr

Jayaprakash Narayan

- 2300|050 O TP0NED

Deen Dayal Upadhyava

- AS HOSTPE S&arrsod

Swami Vivekananda

2”50 D BTI0E
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Read the following statements in relation to the mstitutionalization:
DOV HBESEE 000D 806 55O BBS508:

1. It implies the process by which organisations and procedure acquire value and
stability.

26 DOV, 1HEAheD, Dends, VIR &ros (DIE0H ArdR0d
.

2. Adaptability, complexity, autonomy and coherence are the characteristics of
instifutionalisation.

90EPOS, 08, O LODOBNE, SFoHS R Do Heddn O ren

Choose the correct code:
N0 FBR Q0T 0B:

Options :

1 only
| % 1 S5 (ehaid

2 only

- 2 ST

Both1 & 2
1 3o0ci» 2 o

Neither 1 nor 2
1500050 2 DOGr o0

4. %
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Political economy 1s:
T°2380% 0% 7 Qo:
1. Normative and empirical
DTNEDID, @9:02TNEOE
Policy oriented
D S0 00
3. Incorporates both structural and behavioural levels of analysis
DT, (23T T onen BoB0E3 DFNID EenYSod
4. Emphasis 1s placed only on mternational dimensions
290HT°BOD HOSFETFOZ) IT(HTD (BFTe5ed QN0
Choose the correct code:
HB S G QoS od:

19

Options :

2 & 3 only
.2 5005w 3 Sedad

3 &4
. 3 So0ckn 4

3 2

.3 & 4 only
, 3 500050 4 S|t

[

3. %

1 & 3 only
1 005 3 Sr|ehad
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Political culture implies:
T80 09 eTP:
1. A set of values within which the political system operates.
T80 895298 DT D DENSO Q.
2. The pattern of orientations to political objects among the members of a nation.
2809 @070 38) 2.8 BI0SR 1HBODH He> S,

Choose the correct code:
00 §&A dothEod:

Options :

1 only

- 1 SSome530

2 only

2 A ehan
2. % :

Both1l & 2
1300650 2 Codar

Neither 1 nor 2

. 1 308cin 2 To&r 55y
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Match the following types of states (List-I) with their respective natures (List-II): -
& 806 850 Tra e (2°)E-1) ¢35 H0D0AE J SArTOS (2378)er-

II) 23e338508G:

List-I List-II
(eri)@-I) (erd)z-1I)
(State) (Nature)
(T°2330) QETARN)
a. Liberal Democratic 1. Nation 1s supreme and all mclusive
GTOTE N0 B3 ed) T arifo
b. Conservative 2. Proletariat dictatorship
590 3638 @080 @dEHd A0DOBE 50
¢. Communist 3. Linuts of State power
AW DO Toar;BSH0
d. Fascist 4. Organic and hierarchical conception of
society
EYRAN @OMAE |E7eiied Dedres 2laded
Codes:
§Gen:
Options :

a-2 b-1 c-4 d-3

- a-3 b-1 c-2 d-4

4.v
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Read the following statements and select the correct code:
%800 510 AR, BN TR JothE0R:
1. Decolonization process of Sri Lanka was peaceful.
2008 508 Da0f (180D ToBoW SO 20M08.
2. Armed struggle m Mozambique paved the way for its decolonization.
30270856 OIS FTPL0 T 5T TR SO0 D88 Srdo Mo TR0,

Codes:
?5@_1}:

Options :

1 only
| % 13TSD

only
o375

3 2

Both1 & 2
P 1006 2 Bodr

Neither 1 nor 2

1300cm 2 Dodar seay
4, %
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Who among the following considered that “a nation is an imagined community and one
which is imagined to be sovereign and evidencing deep. horizontal comradeship™?
&800 7O DD 2P 9RO 2.8 ERFRS HFR0, i s SrOF 0,

F'B%, NSRS NN QeI FNOTRTA" 98 e 2P0y
Options :

Anthony Giddens
s08Q ABI)

1. %

Benedict Anderson

2 _"_JEC%E @Oé{jgrﬁ

Cyril Christopher
. 00O (88FHD

David Hume
BB SO
4. %
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Assertion (A): Mass tendencies in individual-level beliefs differ from one
population fo another, providing meaningful descriptions of a
population's political culture.

(&N (A): Ararers B enen o558ies-rom deseen 2.8 2er od
TE 27280 £ 0 S0EPQW, BTer TH80H N0}
DIGEICD ©9FI0B0MT &OEFa.

Reason (R):  Mass beliefs are relevant in shaping the emergence, survival, and

functioning of political systems.
TR (R): Wrelarars e isen T80l o350 e3T)030, a0,
HABHD GrEPoA0BE0S HODOAESOT GOEFOD.

Options :

(A) and (R) are true. (R) 1s the correct explanation of (A)
- (A) S0c(R) B0 OB, (A) 50 OB Deddea (R)

(A) and (R) are true, but (R) 1s not the correct explanation of (A)

., (&) ®0a(R) Boc DADAT HBSS, 50, (R), (A) 8 OB D559 S

(A) 1s true but (R) 1s false

L x (A)20) S (R) S

(A) 1s false but (R) 1s true
(A) #3) 5 (R) 259
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The following is a form of political domination in which authority rests on the personal
and bureaucratic power exercised by a royal household, where that power 1s formally
arbitrary and under the direct control of the ruler;

& 8066 T50D 80IB:) 28 60, ARG ©OFE0 T°z HEN0V0D NEETODR
5581165, & B3Ry 1§ @OPE0D STENG G0EN06, B8 OG0 OSOL0M
DEHE O, 2PORE (S8 AaDolsesS SotN0d:

Options :

Patrimonialism
298570
v

Conservatism
0T OO

Totalitarianism
A0 T OTHI0

Divine authority

B8 2HE0
4. ®
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Consider the following in relation to ‘new constitutionalism’ and choose the

correct code:
QA3ebed Trarz0iarci08 020500 800 a3 HNHE30I0R, ST TR

QotNE0R:

1. The protection of citizen rights and the limitation of government powers.
2P0 800 B8 8, (2068 § 9BTTE JBe,

2. Concern for maximum accountability of government.
15925069 £ (100 BTN TOSI0 §I0 S0SFS.

3. Adaption of the constitutional design of a country to its social and economic

circumstances.
BF0 Ta50H0a) T 250, e308 H0VAO @MHEIOM Erd8e)d

DA o,

Codes:
E&fﬁt?_'l}:

Options :

1 & 2 only
1 5005 2 IF(SSTD

1 & 3 only
1 0050 3 ISP

2 & 3 only
2 500k 3 S5
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The following grew up in opposition to Marxist class theory and is associated maimly with
the names of the German sociologist Robert Michels and the two Italian political
sociologists Gaetano Mosca and Vilfredo Pareto:

& 8000 S70))R 39 VTS 5050 GFFOQ0R, (DTIOMT BN Pares
T3S T20 DTS, 2L 2ErOAMNS TRS0H frrad F|dDSen Hers Irvry,
ABIE 2rOE DOS 2O AN G3)6:

Options :

Fascist theory
J o G050

Modernisation theory

- e3¢0NSE G DT°0H0

Elite theory
. D BE ATP0H0

World system analysis

4w DDOTS 535D DBNE
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Consider the following in relation to the types of pressure groups and

choose the correct code:

283 ST 5505 020607 & (506 R HOHI00R, HTM Fa
200§ 0d:

1. Episodic groups are groups that are not usually politically active but become so
when the need arises.
JNFAS rRyed Aot TraSohorr §aFIO0m G0k ddmey, S0
299050 5090 1§OsrI0E0 eayeraw.

-2

. Fire brigade groups are groups formed to fight a specific issue. and dissolved when
it 15 OVer.
20 (ATE (o0 2.8 A0 Mebded FTPBOE DGIEN QehmsFen, e
S0ARNY I 3D TohateErow.

Codes:
gsfé@}:

Options :

1 only
1 S50

1. %

2 only
2 S5

Bothl & 2

1308w 2 Doy
3.¢¥

Neither 1 nor 2

1 3005w 2 Bodr 57y
4, %
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Consider the following:
&1 800 are3d) 0Med0i0d:

1. Andre Gunder Frank. Dependent Accumulation and Underdevelopment.
0|3 D00 5108, E3D0TBOE ©H;NBAN @08 @038 BIOD0E.

2. Samur Amin, Accumulation on a World Scale.
N0 9t A, 825N BND @ S5O WO,
The above works are associated with:
D 590 AAS @HD0H0IDFON:

Options :

Neo Classical Political Economy
SASP DOITOH TrRsoh eodF| o

Modernisation Theory
e3¢DASESE DT0SH0

Behaviorealism
EseruEvale

Dependency Theory
esrOed DT0B0
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Consider the following m relation to the structural Marxism and choose correct code:
QT EPeS S0 ) 278 002000 & 508 iR 2BfE0I0R, OB
§6 o o0 s

1. The nature of mternational relations 1s shaped by the structure of the capitalist
world economy.
©0STH0N NOVOTO 32750 DV 0 (901 es0¥ ) AT6a0
oo ErarofotiaGod.
2. There 1s a clear distinction between the national (inside) and the mternational (outside).
22008 ('90), S0STAOD (AHE) SDEE IR S50 06,
3. The state reflects the interest of dominant classes rather than the existence of a
genuine ‘national interest’,
TP23£0 BN 20D |NATBN0 GRS L0 80; STO [HTFETON
(9B2)0800E.

Codes:
565@@.-:
Options:

1,2&3
|« 1230ak 3

1 & 2 only
| BT 2 (Ao

1 & 3 only

2o 1 K0BA50 3 377550

3 only

4 % 3TSD
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Discourse plays a central role in the works of the following. For them. discourse
15 more or less a synonym of communication:

828060 570 SN0 1HN0H0/EFD ) (DTS ar(ed FnN0d. 08, (oK
RO 080205 80T DOBFO/E07RTAD &0 (fe) DT DRG0

Options :

Social Constructivists

| @ TBE QT IEIDC0ED

Idealists
g BSOO0TCOED

Neo-realists

3 % S ajﬂggjﬁajﬂcﬁ}@}

Neo-liberals

PO Srdardoen
4_ 4
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Read the following statements in relation to realism in international relations

and choose the correct code:
90STS0N 00O FINE FTVE 902060 & 808 a5 ed
2903908, OB 5 ot od:

|. States are motivated by a drive for power. security and pursuit of the ‘national interest’.
35, 10968, 2P0 (HTrETe 7S S0 Tarsen (0N0SEER.

2. The main form of power 1s economic and it 1s key to understand mternational behaviour

and state motivation.
38150 6790 308N, 0oSTAAN HIGN, Tass (D o BengHos
26 8e¥o.

Codes:
§C;

Options :

1 only

1w ! S5 550

2 only

Both1 & 2
3 x 1&2306&F

Neither 1 nor 2

1 & 2 BOCT 5%
4, %
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Assertion (A): The mternational system 1s a structured pattern of behaviour
among different states in accordance with certain rules and mechanisms
of nteraction.
DBFES (A): 0STSAD 95050 @O &) Aohare, L5z,

238:50%) @HEIOT MG Toaee) HE5F o) AT EPed ) 508 18ak.

Reason (R): Historically. powerful nations have shaped the international order
through economic and political power. through alliances. colonial
hegemonies. wars and such other methods. in order to perpetuate their
nfluence.

Teded (R): TO@es 2801, 45506500 BFED ad) [22FaTR) 74 §50

o8 esd¥ suioh o ST, SPEEN, SON edNE e,
0D, I5E HPKO T T ©0STSOD ($57R), ErarodoTTon

Options:

(A) and (R) are true. (R) 1s the correct explanation of (A)
. (A) 0cw(R) Bot® OB, (A) 30 OB D33 (R)

(A) and (R) are true, but (R) is not the correct explanation of (A)
v (A) S00050(R) B0otd OB, (A) B0 OB i (R) 570

(A) 1s true but (R) 1s false

Lk ) 5 (R) €692

(A) 1s false but (R) 1s true
(A) &:3) 50 (R) 209
W
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